12@0545 (K12a0545)

11@} Linearized knot diagam
[ 10 L

\(J 7 08 10 1 2 6 12 11 5 9 4
E—

Solving Sequence

51>10>4>9>12>1>6>8>3>7>2>C1C
A knot diagra 10 €4 C Ci1 €2 €5 €8 €3 C71 G2

Ideals for irreducible component#ﬂ)f Xpar

=W —u™® 4+ +2u—1)

* 1 irreducible components of dim¢ = 0, with total 71 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIP=@W"—u4- .- +2u—1)

(i) Arc colorings

IS

8 — S +3ut —2u%+1
ul0 — 208 + 3ub — 4u* 4+ u?

—u'7 4+ 2015 — 73 4+ 10wt — 15u° + 14u” — 10u® + 4ud — u
—u'® 4+ 307 — 8ul® 4+ 15ut® — 19u!! 4+ 21u° — 14u” + 6u® — uwd +u

—ub 4+ ut —2u® + 1)

ag =

a8: u6+u2

—u® 4+ 20413 — 6utt + 8u? — 10u” + 8u® — 4u3)

az = ul® — w3 4+ 4utt — 30 +4u” —2u® +u
u'? —5ut0 - —u? 41
ar = \u* — 6u*? + ... — 1208 + 3u*
—ut +5u% . —2u? + 1
az = \u10 — 4438 + ... — 6ut + 2u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u% — 4y%® + ... — 8u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 w2500+ du+ 1
C2,Ce = —2ut1
c3,Cs W™ o — 4060 4 97
C4, C10 w4 4 2ut1
cg, Cg, C11 =17 4 du—1
Cra u™ = Tu™ 4 -+ 13008u — 6545




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7 Yt 443y . —20y — 1
C2,Ce gt =25y 4y —1
€3,Cs y™ —53y™0 4 ... 4+ 348748y — 9409
¢4, C10 y =17y 44y —1
csg, Cy, C11 y ™t 75y 4 — 20y — 1
C12 Y™t —25y™0 4 ... 4 292384964y — 42837025




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—1CS) Cusp shape
u = —0.888190 + 0.4591171 —1.18643 + 1.358241 0
u = —0.888190 — 0.4591171 —1.18643 — 1.358241 0
u = —0.932507 + 0.4290157 —4.68486 — 4.913941 0.+ 6.570711
u = —0.932507 — 0.4290151 —4.68486 4 4.913941 0. —6.570711
u=0.948249 + 0.3986341 1.14717 + 5.671851 0. —6.129581
uw=0.948249 — 0.3986341 1.14717 — 5.671851 0.4 6.129581
w=0.929272 4 0.279545] 5.07424 4 5.344531 4.69472 — 7.858171
u=0.929272 — 0.2795451 5.07424 — 5.344531 4.69472 4 7.858171

u= 0.880577 4 0.4063411

0.12671 + 3.474651

—0.94229 — 7.227641

uw= 0.880577 — 0.4063411

0.12671 — 3.474651

—0.94229 + 7.227641

u = —0.924346 + 0.2568841

5.20330 + 0.142551

5.40218 + 1.470241

u = —0.924346 — 0.2568841

5.20330 — 0.142551

5.40218 — 1.470241

u = —0.957821 + 0.4072261

—0.08969 — 11.181501

0.+ 10.678961

u = —0.957821 — 0.4072261

—0.08969 + 11.181501

0. —10.678961

u=0.930800 + 0.0736791

1.75758 — 5.865471

1.99827 + 4.587781

uw=0.930800 — 0.0736791

1.75758 + 5.865471

1.99827 — 4.587781

u = —0.909390 + 0.0935811

2.83229 4 0.499141

4.26447 4 0.534771

u = —0.909390 — 0.0935811

2.83229 — 0.499141

4.26447 — 0.534771

u= 0.904521

—2.42702

—3.10240

uw=0.795537 4 0.3905771

0.09323 + 3.305661

—3.55215 — 8.382601

u= 0.795537 — 0.3905771

0.09323 — 3.30566.1

—3.55215 + 8.382601

u= 0.848471 + 0.8010571 —1.23479 + 2.373481 0
u= 0.848471 — 0.8010571 —1.23479 — 2.373481 0
u = —0.838168 + 0.8145551 —1.68823 4 3.127091 0
u = —0.838168 — 0.8145551 —1.68823 — 3.127091 0

u = —0.791932 + 0.1949091

1.33858 — 0.611681

4.64664 + 0.660521

u = —0.791932 — 0.1949091

1.33858 + 0.611681

4.64664 — 0.660521

uw=0.898302 + 0.8141231 —4.44129 + 3.045871 0
uw= 0.898302 — 0.8141231 —4.44129 — 3.045871 0
u=0.931885 4+ 0.7866591 —0.98086 + 3.594261 0




Solutions to I} vV—=1(vol + /=1CS) Cusp shape

= 0.931885 — 0.7866591 —0.98086 — 3.594261 0
= —0.842926 + 0.8832271 —7.08254 + 3.139131 0
= —0.842926 — 0.8832271 —7.08254 — 3.139131 0
= —0.883855 + 0.8424121 —7.07816 — 0.459981 0
= —0.883855 — 0.8424121 —7.07816 + 0.459981 0
= 0.841752 + 0.8879831 —8.44517 — 8.699671 0
= 0.841752 — 0.8879831 —8.44517 + 8.699671 0
= —0.859891 + 0.8764421 —17.92925 4 0.366521 0
= —0.859891 — 0.8764421 —7.92925 — 0.366521 0
= —0.941693 4 0.7913161 —1.37335 — 9.147471 0
= —0.941693 — 0.79131671 —1.37335 4 9.147471 0
0.853282 + 0.8874331 —13.09820 — 2.097481 0

= 0.853282 — 0.8874331 —13.09820 4 2.097481 0
= 0.866419 + 0.8829361 —9.56950 + 4.652531 0
= 0.866419 — 0.8829367 —9.56950 — 4.652531 0
= —0.923308 + 0.8299101 —6.95620 — 5.766551 0
= —0.923308 — 0.8299101 —6.95620 + 5.766551 0

—0.414794 - 0.6192671

—2.66917 — 5.341331

—7.85683 + 5.459831

—0.414794 — 0.6192671

—2.66917 4 5.341331

—7.85683 — 5.459831

= —0.958060 + 0.8356991 —7.61845 — 6.714661 0
= —0.958060 — 0.8356991 —7.61845 + 6.714661 0
= 0.957851 + 0.8437931 —9.27928 4 1.741721 0
= 0.957851 — 0.8437931 —9.27928 — 1.741721 0
= —0.971706 + 0.8300641 —6.67568 — 9.488271 0
= —0.971706 — 0.8300641 —6.67568 + 9.488271 0

—0.349192 4- 0.6286991

—6.51842 4 1.016341

—11.98104 — 0.358551

—0.349192 — 0.6286991

—6.51842 — 1.016341

—11.98104 + 0.358551

gie|e(e|e|g|g|g|e|g|g|g|e|g|g|g|e|g|eg|g|g|g|g|g|e|ge|ege|g|ge|:

= 0.968360 + 0.8384041 —12.7333 + 8.48741 0
0.968360 — 0.8384041 —12.7333 — 8.48741 0
= 0.975008 + 0.8319341 —8.0235 + 15.06921 0




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

0.975008 — 0.8319341

—8.0235 — 15.06921

0

0.404670 + 0.5750731

—1.350410 4 0.2015421

—5.94284 — 0.357751

0.404670 — 0.5750731

—1.350410 — 0.2015421

—5.94284 + 0.357751

—0.294052 + 0.6379601

—2.17798 4 7.355691

—7.13193 — 5.378411

—0.294052 — 0.6379601

—2.17798 — 7.355691

—7.13193 + 5.378411

0.291469 + 0.6120771

—0.90037 — 1.950331

—5.15826 + 0.684071

0.291469 — 0.6120771

—0.90037 + 1.950331

—5.15826 — 0.684071

0.377205 + 0.3666401

—1.057850 — 0.2298491

—9.46177 + 0.749971

0.377205 — 0.3666401

—1.057850 + 0.2298491

—9.46177 — 0.749971

0.030464 + 0.5079171

2.51540 — 2.642321

—2.22204 + 3.380401

gle|ele|g|g|e|g|g|g|=

0.030464 — 0.5079171

2.51540 4 2.642321

—2.22204 — 3.380401




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C7 w2500 4 du+1
c2,Co u™t w0 - 2u 1
c3, Cs u™ +u™ 4 — 406w + 97
C4,C10 Wt 0 21
cg, Cg, C11 w10+ du—1
c12 u™ —7u™ + -+ 4+ 13008u — 6545




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, ¢ y 43y o — 20y — 1
c2, Cg y™ —25y70 4. 44y —1
Cs, 5 y™ —53y™0 + - + 348748y — 9409
C4, C10 y71—17y70+~--+4y—1
cg, Cg, C11 y71—|—75y70+~--—20y—1
c12 y™ —25y70 4 ... 4+ 292384964y — 42837025




